1. a(y-3)+4(3-y) & I5EslstA?

D -(y+3)(a+4) @ (y+3)(a+4)
® 4a(y-3) @ 0-3)a-4)
® (y-3)(a+4)

a(y—-3)+4@3-y) =aly-3)—4(-3+y)
=(y-3)(a-4)
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= % 3x%y + 6xy 9] Ap=?

D 2y @3(x+2) @ x*+2

@ xy+2 © 3x?

(F4) = 3x (ay +2) = 3y (x +2)




@D x2-6x+9 @ 4x% 1 16x - 16
@ ¥+ 12x + 36

@2x2 +4xy+ 4y2
® 2+ duy + 4y

@20 +dxy + 47 = 27+ doy + 47 + 7

= (x_|_2y)2 _|_x2




o|2HA] 4x? - 8x + a B YA FA]
et ol W, a+b+c %l—?LO

b (x +¢)® = bx® + 2bcx + be?
=4x*-8x+a

b=4,c=-1,a=4

La+b+c=44+4+(-1)=7




6. the T Ao SRATHY W, a+b o] g& Totolek (Fa>0)

A4x2 +ax+1,9x2 +24x+ b

> E.

> He a+b=20

~&B ,

42 +ax+1= (2x+ 1)
a=2x2x1,a=4

9x2 4+ 24x+ b = (3x + 4)°
b=42, b=16
sLa+b=4416=20




(x-[]?

x2—2x—|—|:|

‘ xX2-2x+1

® 3 @ 4 ® 5

@ 2

(x=1)2




8. a—4p? & ASEfoIA?

@ (a-2b)* @(a+2b) (a —2b)
® (a+b)(a-4b) @ (a+2)(h-2)
® (a+2b)?

a? - 4b® = a? - (2b)?
= (a+ 2b) (a - 2b)




@ x*—dx+4=(x-2)
© A2 -Tx+12=(x-3)(x—4)
© F+x-12=(x-4)
® x*-x-30=(x+5)(x-6)

@ x* +2x-48 = (x—6)(x—8)

@D —dx+4=(x-2)2 (O)
©x2-Tx+12=(x-3)(x-4) (O)
©x*+x-12=(x+4)(x-3) (x)
@ x2-x-30=(x+5)(x=-6) (O)

J(x+8) (x

)
@ x% +2x-48 = (x - 6)(x + 8) (X)




10. 8¢ — 10xy - 12y & RS o, el Ae 1=H?

D x-vy @ x+2y ® 2x+ 4y

@ 4x -3y ®)4x+ 3y

8x% — 10xy — 12y% =2 (4)52 — Hxy — 6y2)
=2 (x—2y) (4x + 3y)
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gL ~
(F4]) = 2x2 + 2axy - 3xy — 3ay?
= 2x? + (2a - 3)xy — 3ay?
2a-3=9
T a=6
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¥ +8x+15= (x+5)(x+3)
“(x+5)-(x+3)=2
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D 2x+1 @ 3x+5

® 5x+10 @6x+6
® 6x+20

2x2 +5x+2=(2x+1)(x +2)

wrabA S8 o] Aol 2{(2x + 1) + (x + 2)} = 6x + 6 ]t}




14. 7127} 3a-11, H017} 2742 - 102a+ 11 Q1 AAZAE o] Ed|9] Aol&
Jatefat,
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H -

>
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27a%> —102a + 11 = (3a —11) (9a — 1)
wteta] Ealo] ZolE {(Ba-11) + (9a-1)} x 2 = 24a — 24
oltt.




15, (x-2)(x+3)-4(x+3) =
Ao, ol 1), T A7

@9 @ 2x+3 ® x+3

(x=2)(x+3)—4(x+3) =

S (x+3)+ (x— 6):2x:
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olth, &5 a, b, c AT a+b+c 2 ZHe F5HH?

o]-g5}o] 1112 - 1102 9] e Fat= A

1112 - 1102 = (111 + a)(111 - b) =

® 110 @ 221 @ 321 @ 421 (@)441

1112 - 110%2 = (111 4+ 110)(111 - 110) =221 x 1
. a=110, b =110, ¢ = 221
a-+b+c=441




17. 852 —115% - 1622 4 2382 = Al4tstolet
B

[ 2
> =g 24400

~&B

(FA]) = (85— 115) (85 + 115)
+ (238 — 162) (238 + 162)
= —30 x 200 + 76 x 400
= —6000 + 30400 = 24400




18.

x+y= V3, x—y= V2 4 o], x -y + 4x — 4y 2] gk-Z FoHH?

@V6+4vi @ V6-442 ® 26+ V2
@ 3v6-2v2 ® 4vV6-5V2

B

=y Hdx—dy = (x+y)(x-y) +4(x-y)
x—=y)(x+y+4)
2(V3+4)

= V6+4v2

—~
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o5 S ezt vk | A2

@ 4a? - 2ab = 2a(a - b)

@ x? 4 20x—100 = (x + 10)?
@ —x2+1=(x+1)(-x-1)

@ x2-Tx+12= (x-2)(x—6)

@10x2 +23x—21 = (x+3)(10x-17)

B

@ 4a? - 2ab = 2a(2a - b)

@ x? 4+ 20x - 100 = (x — 10)2
@-x+1=-(x+1)(x-1)
@ x?-Tx+12=(x-3)(x—4)




20. o T UHA UG 2 35 JI5E 2R e A2
O x®+2x-15 @x2+3x ® 2x? - b5x-—
@ x*-9 ® x*-4x+3
@ x+2x-15=(x-3)(x+5)
@ x% +3x=x(x+3)
®2x?-5x-3=(2x+1)(x-3)
@ x*-9=(x+3)(x-3)
®x?-4x+3=(x-1)(x-3)
35 A (x-3) = ZA] Y= A2 @ ol




21.

6x2+5x—a=(2x+b)(3x+7) 7t HEZ

© -24 @ -18 ® -10

B

6x% +5x—a = (2x+ b)(3x + 7)
= 6x? + 14x + 3bx + 7b
=6x2+ (14 +3b)x + 7h
14+3b=5, Tbh=-a,b=-3,a=21
ca-b=21-(-3)=24
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x—=2y)(x—2y—4z) - 1222 o] A7 1 Q1 F dApA o) Fo=m
ol o, & Ao e Aot ?
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® 2x-4y+4z (@)2x—4y—4z ® 2x-4y+ 3z

@ 2x 44y +4z ® 4x-2y-4z

~&B

x—2y=A 2} o}H
A(A -4z) - 1272 = A% - 4Az - 1272

= (A-62)(A + 22)

= (x=2y-62)(x - 2y + 22)
L (x=2y—6z)+ (x—2y+2z7) =2x—4y -4z
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@ x+1 © x-1 © a+1
® x-2 @ a-1
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a?x-a’-x+1=a*(x-1)-(x-1)

=(a+1)(a-1)(x-1)
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x2—2xy+y2—9 = (x-y)2-32
=(x-y=3)(x-y+3)
21-1-3+1-14+3=0




25. x=-1+ V2l 4+ 20419 gHS Fotolet.
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